/,

No, 1 400mBEHRE BEF [ B5RY 10:40~ ]
L H3R K % EEy b I3l B 5 & CoE B &%
[}%ﬂ]

2 S11  fem mg— SN TS BAUEZR) B 6:34:41
3

4 S8 HEE A AN Tak 7978y adb L Al12+ Z=iE
5

Ly H3R KE % EEp v BT B " & B &%
[148]

1 @ W BEX NS NS HlElE 1:13.:37
2w pEA B 152 DR —JA— ANILIS—F— L)L — 1:22:89
3 D kT DE HHES OO% DR — A — 46:28
4 e KARE GRS IVYAH AgF N — T — 47:52
N Hhy YT bhiFiE 4750763
[248]

1

2 am)  paN B = LT XT3 DR — - Jp— NIRRT EE R 45:43
3 @E Ror DA HHEL TN U —Jp— 29:36
4 pEe 2 HE 958 AIT VN VEE R E—k Mk 32:88
5 amm Ay HE EEYF a3 JUH— Jx— E—i EiE
NO, 3 200m1)\>(|\[/_ ﬁ% [ H%FEﬁ 10:58 ]
L 53R K % EEYba AT B " & CoE R
[148]

1

2

3 SM10 GRJI| B=E FohT EOS & v—4SC Al12+ 5:23:72
4 SM9 {=H RE T93 1) VN VEE R 1,35 3:05:78
5
NO, 4 200m1)\)(|\l/_ %% [ B5EY  11:15 )
L H5R E % EE b BT = 5 & CoE i &%
[148]

1 SM8  Fii =& MY EO7F RIZE5%&[¥] *A 12+ 3:59:33
2 SM8 B NUEN 27 RIZES &[] 1,24 FEiE
3 fEE B =S x/ MEY O —Jh— 2:56:62
4 SM8 HE mifF <E/) o VN VEE R A3512+ 3:29:38
5 SM7 ZE YHS HAY (%K) BAERAET 135,12+ 4:00:65
[12%31

2 ) INEp Kt I/ BZhy DR —Jr— 2:51:66
374 R BT D PEADEG LS M RV 2735708
4 sm14 | KK F)Yv XA(% EPNCS=-)) 2:36:72
5 SM7  {EH #thtg HHL g RERZE K 1,3,6,12+ 3:11:28




/,

No,6 200mBHREF %*F [ gy 11:24 )
L= S5 E 4 J=H+ i B g & CoE B &%
[}%ﬂ]

2 S8 fEx L= I+ H LS BREIAAY—RX 12+ h:1h:7h
3 S14 EH T&EE XA FY Ttk 2:36:52
4 S8 =0 BEFAK NMF THA EPNE LY 3,512+ 3:26:45
5 Sh EIRCES HILZ Hh BSK{&E Al12+ 4:03:88
No,6 200mBHFE BF [ BE3 11:30 )
L= 52X K 4 I=H+ BT B " & CoE B &%
[148]

1 oy B HE YY) FIF7E JDAIRATY 2:51:59
2 S14  WAK BRE IYER EO/T IOk 2:17:75
3

4 S11 S R DZAC I BAUEER) B 3:04:20
5
NO, 7 200m3|:77]<=‘c? %% [ BRS 11:34 ]
Ly HTR K % EEp e AT B g & CoE Eal >
[148]

1

2

3 SB14 fERE @ )T AR BREIAA~N—X RREME
4 SB14 HEO = ETF NG B A (fEE) 3:48:48
5
No,8  2bmn\2T754 X+ -BF [ iR 11:37 )
L=y H5X E 4 J=H+ BT B &5 & CoE B £
[}%ﬁ]

2 omwy  ILUF BHRE Y~AL7 <1z EAGERT) ZF 30:61
3w BRE B RN ThHF A — Jp— T+ 31:29
4 Em) QH[lE E£E EEHF A0 R —-TA— By 32:15
5 Gy BH B YARA HATIL JLUR B¥ 39:61
[248]

1

2 e B KE HISX FEAH TR — - Th— BY 20:19
3 S8 Pl RE rMFE EO7F RIZES4&[Hl By *A 12+ 18:63
4 Gawy  FAR HEE] ATEL LAY Do —-TA— BF 20:42
5 o fREE E— ONJ agAF N —-TJ— BF 37:12
[13,%31

2 @m  EH N ESX OO T A=K 5K By 16:81
3 S14 N E JTILEN LY It b L ZiE
4 (w4 T —Ef YFRI yuaFOY RILJqVEEIR By 17:03
5




25mB B

ZF

[ BB 11:42 )

L H3R E % EEy b BT 5 CoE i &k
[148]

1

2 mEH)  HE EX A AYS T A —h7K K 51:37

3 S8  fEsk = M+ LS BEAIY—X 12+ 30:04
4 ) A RS NT B35 JLUR 1:00:53

5

[248]

1

2 kBE EH ¥ R4 74 WWILEDEE S0 76:59

3 omm U BHE Y~,LT w13 {FANGEETH) 2905
4 pEE WE BN <%/ <kn VA VEE R 23:34

5

7,

N0,1O 25m§ EEﬂ:f %% [ BSRY 11:46 )
L=y IR K 4% I=H+ B =B CoE EE = 4
[148]

1 & WE RE J4 MEX R — Jh— 49:07

2 CGawy Ll SSIF YIYF AAvHY bldlFk 1:09:74

3 ey BEO BEME INGTF S A HlElE 47:52
4 ey 0O ZEME N YITF XAk HlLlE 59:05

5 omm)  fpE TR JTEX Ay JLUR 43:57
[248]

) I YRA HTIL JLUR 36:94

2 (g T OKRBR EZHE R~V 7 A=K 5K 32:33
3 Gy [l —3 PR PNC ) 38:29
4 @mm NG EHE FI< NILE bHlFlE EE
5 Sh A SF3 Sl BEARI—ILX A35,12+ 50:19
[348]

= e NZLT ERF JLR 24:53
2 S6 Ei =X EO+ hEIF B v»—2SC *A,3,12+ 29:38
3 owm 2l EKBER 7%~ Joeoy  JLUR 30:15
4 R P& =K NELT IIA JLUR 21:98
5 §7 2/ BN hIA R4 TI72yvade A #A12,12+ 31:05
[448]

1 @) Rl B— THYI TAF RS v—4~SC 15:88
2 fEE IR BUK YIIR TAR JLR 4933
3 S14  #EH NE FHRA <HFE THELs 24:71
4 cm K BE Ay BA(ErE) 18:14
5 S8 TH o IVINN APSC *12+ 21:63
[548]

1

2 S10 Al HaE AN N EONEIwY L) 1,35 20:11
3 ) HF HR 3 Fen BN (f2 ) 19:51
4 ey B fE—EBR N To4F07  EANGERE) 19:37
b Gam)  EEE T A RAZ )k BA(BHE) 22:33
[648]

1 Gy T EZR J9RT T A=K K 15:44
2 G T WA ENSAL HAk T R)—=kIKK 14:96
3 S14  h+ E5HA AT eO7F  [EHFEESC 12:71
4 S14 QO s VYITF A4 t4  EAGERT) 13:21
5 S14  #H BA AAHAZ 7k EPNEE i) 16:42




dby, &
No 1T 25m&wk&E ZF [ Bsp 11:56 ]
L= S5 E 4 J=H+ i B g & CoE B &%
[148]
Ll ey A R 2941 /I3 DIFE 54:11
2 Sb ;ELF £!) FF0 775 w3t L A12+ 42:61
3wy PN R = LT TV U — Jh— e
4 ) B DEY NG Y5y TR 1:08:52
5 ) HE EX AR NF T A=K K 50:30
a6 >
No. 12 25m&kE 5+ [ #p] 11:68 )
.- U : T - asH+ R 5 % CoE E
[},‘ﬁﬂ]
2 wm TE K= a8 MEF IR —JF— 41:77
3 Gy INE T EHE FS< NILE hlLlF EiE
4 m )l —E PN ETR N PNCEhD) 44:56
5 mEE pOE K4 JFEX 1 JLUR 43:04
[248]
1. amm)  fRBIL JZABH 7Y%= JoRoy  JLUR 34:05
2 Gy K EE A=l B ERHE) 22:51
3 S14 mE KiE FTHUY RAF Itk E-
4 ) HF HR A3 FEO B ERHE) 21:59
5 e FI| =2 A7 U JLUR 31:75
No, 13 25mI|Z;7]<% ﬁ%%% [ B5Rg  12:02 ]
L=y HFR K % 3=AF B = & % CoE Rl
[148]
1 @ FHO EH 1/9F =Y BA(GErE) i+ 31:74
2  fEE EAN =P TJOER <XF IR — Jp— ZF 29:73
3 SB11  Hiy B A H < F= Itk ¥ B E-
4 SB7 HMH # o IVINN APSC Br *12+ 24:71
b Gam)  HEE T A YA Sk (PN Y BF 31:39
L BR#H L,
F#BOIPIE 13:00~TF
NO, 14 50m/ﬁ"}'77’f ﬁ%%% [ BR9 13:00 )
L—y  H5Z E 4 J=H+ AT B 5 & CoE L Bk
[148]
1 S8 L B/ A —AY< KN Simplex Inc. ¥ A12+ 53:01
2 S10 GRJI ®H=E R EBS & v—4SC T F Al12+ 1:18:00
3
4 s EH N ES4 OJR4T 7 A=K 5K By 38:90
5 §7 Rk R by ETE BERAA<—X Br 1,3,12+ WAPEE
[248]
1 G JE fE—RR NT roqaFOy  EAGERE) BF 50:42
2 S7 EH tHib wZE =ty hy RERZ R K BF 13510+ 38:96
3 S14  mAk BT HIE JagnA THELUA Bx 30:12
4 S14  FZmIL KKt E)Yw ZAF EPNC =) Br 28:92
5 (miv) 4 H—ER YFRI yuaFOY RILJqVEEIR BF 38:54




No, 156 50mBE MR

ZF

[ B 13:03 ]

Ly O33R K 4% EEVba BT B 5 & CoE i<
[148] .

1 S6 HELF T 3 VAR VEE R Al12+ 1:25:83
2 w2 THY< Pava @\ v—-SC ZiE
3w B B AANS TS IR — Jp— 54:32
4 BB BEEA B JUEN T IR —JA— 57:57
5 S8 kL= NI LS BREAAY—X 12+ 1:05:37
[248]

1

2 ) FO M A/9F =t BN (f2 =) 39:21
3 S8 A O MK NTF TA A (fE ) 3,5,12+ 43:71
4 pEE WE BN <%/ <kn VA VEE R 53:86
5 Sh RS AJLT AH BSK/x A12+ 54:22
[3#8]

1

2 S11 Ak B=x AHH < F= IOk B e
3 S10 FE A A XX H/3 [LAVA]ER 12+ 33:22
4 S14  EH FIE XA FFY Tk 32:86
5 ey PAK B2 VLT TN U —Jp— Z=E

7,

No,16 bSOmBHF BF [ B5E9 13:08 )
L= O33R K 4% EEYba Iz B 5 & CoE R
[1£8]

1

2 G&m INE EHE FI< NILE bHlFlE EE
3 S7 Z2m BN K4 a9z~ 7972y adb L *A1212+ 1:11:44
4w Bl =& EEHE (T U —TFr— 1:07:756
5 S6 BN = SYESN 29T BEIAAT—X *12 2:26:39
[248]

1 S6 EHE E=X EOt MEaE 1&[E»—4SC *A 3,12+ 1:08:26
2 (B MR N IAX AR R — Jh— 51:18
3 S8 A X ENLT AR REARIT—ILX 1,3,5,12+ 51:07
4 S8 EH =X <L 32EO VN VEE R A12+ 52:52
5 S8 TTH CoR VN KPSC *12+ 50:17
[3%8]

1 G PN <IYFH eEOFE HEKKHE 51:98
2 S9 A % YIF 27U BN (&) *12+ 48:03
3 mm  fRpE F— I a9 F IR — Ty — 48:87
4 cmy)  [AlER #0BA TR )7 OB —Jr— 53:94
5 S14 & hH NgE AHR U+ ITHEL s 52:81
[448]

1

2 S10 Al HaE A NS N BA e ) 1,356 46:86
3 Gy B B NYSE FEAH TN — T — 41:11
4 S8 W Mg <E/) o 7975 w3t LM A3512+ 36:90
5 fEEm L #H YAA YN JLR 37:66
[548]

1

2 amy EA EEE] ATEN EAD DR —TA— 37:70
3 S7 = 1yl YHI ARV (¥K) B IE AP 1,3,6,12+ 38:04
4 S9 AR BEA FT7F% FAbk ‘| vy—4SC A358 49:07
5 S8 Bl = JRAFN 99 775 w1t L 12+ 43:15




No,16 HOmBHF BF
L= S5 E 4 J=H+ i B g & CoE B &%
[?fﬁﬂ]
2 S8 BA 3 NER 237 RIZESE[H 12,4 e
3 S14 g K& FHUT BAF IOt b e
4 S9 =R JtE (47 IvEO 775wy adb L 12+ 35:42
b o camy  TER B TN B U — T — 38:76
[748])
G NI S A 5 I/ Ay DR —Jh— 29:48
DS K B TYER o/ T AELOR 08746
3 S14  BHF Be TILZ )5 JRHE*ESC 28:28
4 o) gram A ENSAL A T RAY=RIKK 33:76
5 S14 1O /Bt YITF A4 EANGERT) 29:27
db33 3
NO, 1 7 50m ﬁ/ﬂ(% ﬁ% [ BR 13:20 )
L—r H5R K % EEya Iz B g & CoE i Bk
[1£8]
1
2 Gy EI EF 7YY~ Cara @GRy vy—2SC 1:29:96
3 S9 &H B 2959 Hh)v FI75 vy 1db FLN 1.3, 40:10
4 S8 il A —AY~ KA Simplex Inc. A12+ 57:58
5 ) HO =M 1/9F H EPNE Y 49:29
dbx >
NO, 18 50mﬁ/ﬂ<§ %? [ H%FEﬁ 13:22 ]
L—v 55 K % EEYba AT B g & CoE R
[1£8]
1
2 (B HY SE A% ILAH RIAAY—X e
37 G KAk KR <YV A EOE A& KkHE 1:13:64
4w FHE ZE ¥ AR IR — Jp— 2:07:06
5 Sh A I EPE: BEART—)LX A3,5,12+ 1:46:10
[12%31
2 S8 BB =X o< 3TEN FO75 vy adb AL Al12+ 1:05:87
3 S10 A% HE AN NG EPNE R 1,35 51:82
4 S9 A % YYIOF 2T B A (fE ) *12+ 1:03:97
5 §7 WH B YA g% RIZES&[H A12+ 1:10:57
{%’n‘ﬁﬂ]
2w W BE NV 9T EPNGEELY 48:19
3 S14 St =ER AT EA7E BHZFESC 33:69
4 e NE B */) REY IR — Jp— 37:02
5 S9 A BEA FT7F% FAbk ‘| vy—4SC A358 1:10:44

10



No. 19 OSO0m¥ikE %+ B+ [ A8 13:28 ]
L— ISR E 4 J=H+ i B g & CoE B &%
[148]

1 SB #&# oY £ SO VAR VEE R ZF Al12+ 1:58:02
2

3 @\E El B— THYT FUA4F BRIy —7SC Bx 46:81
4 SB9 gR& FL—EHR —>0) Jgony  de RS B 8 1:00:14
5 SB6  #AF B VA A RIZEG%&[H] BF A12+ 1:23:11
[248]

1

2 SB14 mEO = ETF VN BA(BRE) B2F 49:29
3 SBl14 #AH BA AR Ik EPNEE D) By 46:75
4 SB14 HAK & JILEN LY ItLk 5F e
5 Guwy AH & 193 79 D —-TF— 5F 43:71
Ly 53R K % EEYba BT B 5 & CoE &%
[148]

1

2 SM8 ¥l #H —AY~< KA Simplex Inc. Al12+ 2:01:09
3 SMI0  FE AN A X2 H/3 [LAVA]E=EZR 12+ 1:23:39
4 smi4  |IH BEZS YA LS BA(EEE) 1:27:67
5

No, 21 100MfEAARL— HF (e 13:36
L=y HFR K % 3=AF B = & % CoE Rl
[148]

1

2 Gam) By SEBR Vo) FIF7 DA ILRZATY 1:31:90
3 Smi4 g KiE FTAHAUY ZAF Itk e
4 e LI B TR I\ ILUR 1:40:01
5

NO,22 100m/\Q77’f ﬁ%%% [ B5R9  13:39 )
L 53R K % EEYba Iz B 5 & CoE L B
[148]

1 S14 1WA BEX YA LIS BA (S ) LZF 1:45:13
2

3 S14 | At F)Yv AA(% EPNCS=-)) By 1:07:39
4 S14 WK BRE IVYER EO/T Itk Br 1:08:10
b Gamy  RER B TR R IS — Jh— BF 1:53:19
N K 4% IsHS mOR % = CoE E
{}%ﬂ]

2 S8 /0 BFHK NTF THA EPNE LY 36,12+ 1:37:10
3 S14 EH T&EEZE XA FFY Itk 1:12:07
4 S9 EH BE 93 H)2 775 w1t L 1,35 1:15:22
5 Sh AR AR AILT AHh BS&Kx Al12+ 1:57:90

11



/,
No,24 100mBEHEF BF [ By 13:45
Ly O33R K 4% EEVba BT B 5 & CoE i<
[}%ﬂ]
2 S8 TR X TrLT A FEARI—)LX 135,12+ 2:09:81
3 S8 B == ORFN g9 VAR VEE R 12+ 1:41:16
4 S14 R R )R B BREIAA~—X 2:27:69
b mid) & & Ik S= =) BEA(Y—X ZE
[248] )
S8 MEE BN AN DAk 7H78 vy ade AT 2+ EE
2§89 aRE LE (3 =VEO 7H75 wyadb 12+ 1:17:67
3 S14 O yEi YITF hA4t1  EANGERET) 1:07:33
4 gEE NP S */ MEY O —Jh— 1:09:12
5 ¢ B fE—EHR N ToA4F07  ENGERE) 1:32:72
[3#8]
1 cam)  INEF L ER x/ AhY DR —JA— 1:08:10
2 S14 St =R (79T EO7x  [BEHZESC 1:01:66
3.  Jrar BA ENFAL AAL T A=K 1:20:20
4 S14  BH [E TULZ 15 FEHESC 1:03:16
b S14 WA & JILEN LY I7tLUk E- 5
dbS, & .
No,25 100m&EkE HF-HF [ Bsf 13:55
L= O33R K 4% EEYba Iz B 5 & CoE R
[1£8]
1 S14 WA H’=EZ S LIS BA(E ) Lo 1:36:16
2
3787 WH B VA A9 RIZE512 ] B A2+ 2:30:5h
4 S EA BE SvEL a3 B A(Y—X BF *12 3:12:72
5
[248]
1
2 S8 W Mg <E/) Y 7975 w3t Ll Br A3512+ 1:45:49
3 S14 AN FEE HUIE Jagng  THELUE By 1:12:76
4 S7 ZE A YHS ARV (¥R) BAERAET B 13512+ 1:39:84
5
No, 26 100m¥ExE &L+ [ BB 14:01
L—  H5R K % IJ=HS BT B F & CoE i &%
[148]
1
2
3 SB9  mJI| ®WE FhT EOS 1@l v—4SC A12+ 2:06:32
4 SB11 Hik B AYH 73 Itk B e
5
Ly HTR K % EEy b Iz = 5 & CoE i &k
[148] .
1 SB7 #EzE A AN Tk 7H72 a4t LM AT+ Ei
2 Gawy AW PR A8 I R — Jh— 1:37:01
37 SB14 hag = ESF VN EPNE =Y 1:45:62
4 sy [IER ACBA ANt R — Jh— 2:13:46
b SB14 fERE = )R AR B AAY—X 2:09:32

12



